Mr. Peters learns from the banker that the
current spot exchange rate is €/£ is € 1.4537 thus
the invoice amount should be €465,184. Mr. Peters
also learns that the three-month forward rates for
the pound and the euro versus the U.S. dollar are
$1.8990/£1.00 and $1.3154/€1.00, respectively.
The banker offers to set up a forward hedge for
selling the euro receivable for pound sterling
based on the €/£ forward cross-exchange rate
implicit in the forward rates against the dollar.

(a) What would you do, if you were Mr. Peters?

(b) Suggest alternative hedging possibilities for
Shrewsbury Herbal Products, treating you
as its treasury manager.
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PART A — (5 X 6 = 30 marks)
Answer any FIVE out of Eight questions.

What do you mean by capital account of BOP.
State its importance.

What do you mean by Bill of Lading?

Explain the factors that underlie the economic
benefits of SWAPs.

State the major function of EXIM Bank in
promoting India's Exports.

Explain Forfeiting.

Discuss the major provision of FEMA.
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